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L-TAM Module 1 Section 7 Exercises

1.

Given ,p, = e™02! determine

@ e

(d) ey

Given (pz; = ™92, determine

@ e

(b) exy

Determine the value of Ty if Ty + T, = 40 and T, T, = 346.71.

Given mortality for (50) follows a DML(120) model, determine

(a) Zso:iﬁ

(6) esoo

Given mortality for (x) follows a CF(u = .025) model, determine
(a) gx:§|

(b) exs

Given pyy = (1.02)7F, determine e,z

Given ggy = .05 and gg; = .10

(a) determine €g0:3|

(b) if gy — 6.08, detel‘mine €go
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A b = SQ ¢ e W, (8) AE







